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Phys 238 HW #4:  Resonance: FWHM and Mean Lifetime


















































































































2

HW 4
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2 what are the two frequencies call them Wh
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This is a quadratic in Wd
W b wa C 0

where b 2W 82 and c Wo 2830
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HW 4
Wa b IbIl
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HW 4
3 FWHM WR WL

4 Torsional Oscillator
from damped oscillationI got wo 4.788 rad Is

0 1312 75
Q WE 36.5

I I 7 623 N

F
mfph.EE49nceyzame

Lookin for
Opeak

2 88 145 rails FWHM

FTHM 5rad 6.92s

These two values are close but not exactlythe same

5 LRC Resoname
From the damped oscillation

s

From resonance curve

FL 7770 Hz Fr 9730 Hz
ΔW 2 DF FWHM 12 314 rad

sputum8 12 10 55 Again these are close


